+ -./0-12-.3% A4/
N
5 $ ***+6 +
%
" 1# 15 %&'
89 1 -
n
n
HPES %P %;; ; ;
&') ' )'<7T $&<))'<T# &))<
8 $ # $ +
n
7 %
* % $ % $ 3% $5 3 $+
+ - $$ $% + * o 0 % , 0%
$3 $ %% $ + $ % $ 3, '$ % $
% %% $ $ % $ % $ + $%$ 9% %
$ $ +$ % $ $,
O $ * * 0% 0 %* 3
106 1 $.,, +8$ $ !
+ $ + $ %
* % % % $ % % $
$,1 % +$ 2 $ )89 8
% $* + $ * s o+ $ %% $ 3 $
% $ $$) + $ 4 $ % %
$ $ 0$ + 0% = $ + 1%
$ * $ % % $ $ 9 $ +
$ $ 0% 7 + $ $% $ $
$ $ $% $ % + 0% $ $ $
,* % $+ % $$ $ % %% $ 7 $ 3 $
% $ $ $5 % $ + $$ $$ !
I $ $3 3, % $ + 5 +! %% +
% $% $ $$ % 0 0 $ %$
$3$ % $ $$ $2 % %$ $
$ 3 $ 33 $% $
$% 0% + 3 % $
$ % .3 0% $ $ $ a1,
0 % $! 33 $ $% + 9
$ % $ % 3 $ $% 0% 3, $
% 4 .34/ - 0% $ $$ $
$+ 5 . 0% + +1$ % % $ $ % $
.3 % $ 3 $ % $ $! %
$ 0% $ % $ 0 $$ $%* 0% $ *
$7 $ $ % $ + I+ (
% $ + +% $+ 9 $ $ % 0% $
S, % % 0% + $ % 0 1'$, 5,,:
% %% $ .., ) 4% 5 $ $ 3
$ ! $ % / + $+ 5 , 3%
-12-30 )4 -

%



+ -10-12-3% .4/
$ + % % $ $$ + ! 2
) $ 2% %$+ $ $ %S $!$3$ % $ % $ %
$ 3 $ $, #$ 2 $ 1 M,
$ $ % $ 3 )
$,089% $ $ $ * $0%$ $3$ $ $
$+ $ $ % 1'$ + 0% + $) $ , $+
! 0% ' % $ $ $ 0% + $3 $
$, > $ % $ $$ 2E *, > $ ) $ $! $
+ 0% % $% 0% , $ 67" $
$ $ $ + ) $ 083 ,
1'$ % $ +$ * 0% $ $$
$ $ % 2@, $ 3 FI $# "=C% +
$$ $ + +3 $ $ $ $ $ ,F$ $ $
% $$% $ $ $ $ $$$ , $
% A $ $, I+ + $
* + I % $+ % $ $
$ + +3$ + IS, $ $ $ 3
% $, * % $ $ $ % $ 1'$
B$ $ $, $ $ $% $5+ $ %
$ 3 $.1 /, $ IS K $ %
@ * $ $ % $ % $ + $ $ %
0% % 'C % ,F &% % $ $ % 7 % $+
0% % 5,, $ 6'C % % % o+
?2(< $ % % $ + $ $ 3 3 )
I D # 2 % $ 6C, % + $
$ % + $3 $% 9 ¢ $$ $ $! +
$ 3 $ )y 1) $ |/ $
$ + $ + % + % % $ +
I+ $ $, $ $!
+ A $ % $$ : I #8
%0 $ + +$3% 3 $ % $$! S
+ + % % 4 $ $
+ $ $ $$ ) $ ,#$ $$ 3 $ $
+$ $ + % $ $,
$ $ + + % $ % $ $ % $
$ % $ $ + $ $$ , % $ $9%
$ % + $ 3 $ 3 + o+
$ [ % ,
: %% $ % + $% $ $
$ % B$ 0% $% ?' ! $ $ $ B+
$ % .4 $ % $ $ % % $ + $ $
%% $ % #$ $ $ $%$ % = %%
$ $% 0%, # $ B$ $ 3 ! $SA & G +
$ % ) # 0+ % D $F $D :$ $
+ $ % 6))@"E ? $ + 3 > 9
D!$ $$ 0% $ s+ $
% ,* 0% $ % % % $ ! $ > +
$$ $ $$ 2 I$ $ $
2% ! $ $ 7 A $ 0
$ $ $$ $ )0 8
$ $% %+ $ $ , 0 % * %% $ $$
$ $ $ 3$53$% $! % $% 3 % $%
0$,* $ $ B$ + A % $
$ $ % $ $.# $ $ 1, > 3 $ $
$ 8 E ¥ C # $ $ $
% $ $ $ 3 $ $ 3 , $ $$ %
$ $% %% $ o0 > op % + % $ $, $ +
$ $ + ! > $ $ S, $+



+

,-./0 -1 2-.3%

4/

$ 33

$ + & o+
$ $3$5 +!8$3

BB 8

) CD@9 E

$$, *

$)89 8

$ 3

9$FF +@9 + F*@F G9 H

-12-.30

%% $

)4

%



+ -/0-12-3% .4/

Lead (Pb)

Copper (Cu)

$ @ D 5)
BB 8 ) C A 4 % 8 E 9$FF***+ 8 9 *8 + 8F 4 9 4 4 4 49 A
1% #8
BB 8 ) C# ) 0 # ) E I$FF***+ ) + 8F* 4 4 58 4)45 4) 4 F
5 $7 A
7 2F3
H"( $3$ J
") 6' ;
HQ@' # o+ $
H=' 0 $ $ $3
H
H +
I’ + $ $A % $9 : $
BB 8 )y ¢ ! )80 88 | E "+ ) 8+ -

12-30 )4 - 1



+ -10-12-3% .4/
D )A $ % $ $ % $ $ $ %
5 $ 0$ 0 %% $ % % $,
0 K$ $ $ 8 : $ % $ $ $ $
$ $+ % $ $ $ $3$ % %% %,
% |$+ $ $ $ +$ 0 %
()76 C % $ $ + $ % $ # S $
+ $ '3 @ C $ ’ I % % $
$% $3 1'$ $I¢, *
$ % 0 $ % + %) % % %!
$ $ %) 8 o+ o * 0 # +%
$ $ $ % * , & 0% ;
$ $ % %7 ) # + 9
% $$ $ "e
$ , 3+ % $ + S - $ D$
% % % $ 9 0 %- * ) #$ *
$ + :
> + $ 27727 "'& ="? )="?6
+ 0% 0%%, $ $ "1 , 0 % &# ++
! $ 3 $ $ 0 ,'76./&=@L6(
$ 33 0 $$ % $+ = 4 . Mf 0 $ 4%
0 $35 %% 2 % $ N # e} % $
$ %> $ $% "7 "(& ::) 6=,
% 3! , > $ 6, . M $ $ !
o+ $ * $ P $% % 5 %
$ $ 8 , % $ $ $ N %
# 122 % $ , + : "7 ?&=6L6=
$$ %% + )7 <, > % , % 8 5 $w
9 59 5 9 $ & 4 $
NP F $ # "7 <6. /&
F % $ @ @OL @=',
+ 9 @, . - *
)) $% % 38 G!; NO %#
$ $ +3 K$§ $ % 2227 <& (?2L(?,
% H O+ $ ( #$$ + $ $%
, 0 7F %
$ + $$ #50 % $
$ $ "7 &,
$, 2, $ -0,Q*Q 3% ,, $
# 0% $ I+ + 9 3 $6 J-F+H4 %$$
'% $ A $ $+ % <,
% $ , CME S %
% % % 8 % $ $ $ $ & #
$ K $ + % +N ; "7 6(& "=L
% !, —<
K$ $ + 9 M) $ $%
# $ + +1 % $ + + +$ $ $ $ $$
$% $ + +, 5% $ & $ $ % N #
$ % o+ $+3 * > "=T@E’" L@,
+ . R R %
4  $ + $ % % $ e %
' ; $ "7 (& () =,
5% + % )t % ! , - 0O - 007 L Q- $Q,
! b % ,D % ) 4% #D, % -5 %
+ $ $ % 0 6 /@, $8,
I I = $ *07  $$ 7 o ,."'@,
Q0 %% $ %  3$Q, $ . K$
+ $* % % 0 & >$% % $%$.@ ./,
$$ $ 4+ + o+ FH4 %$$ '@,
-12-30 )4 - >



+ -10-12-3% .4/
6, $ -0,4 0 $ - , , Q4 #
2 >F>% , $ > 9%% $)# - %
-FH4 %3$$s @, # 0Q5A O %
<, #0O 2 >F -% %> ,, 04 # $ '=7 &,
$Q, 2 J K$ & =, , 4 - :
0 J > +.( J, -F 4 ! % ) $,
4 %%3$ "@,, o] % # $
@, $ 00, Q* $ Q, -7 %+ "7
> -#7 33! 1# 3% K$ :$% "&
$. I * D $JD'!'$ 6, * F, JH#1 >$
= $ 9% hi:d $
( O#, +  x # 10, # + )F $Q0 %
% $ $$3 # %
$ 3% + '=767./& '6) ,
+ % ,; <, , F , Q $
: 6 0 D $ " : %% >0 # ,Q5A
?, O 9 , 485 # $% $ O % ; # $
> Q5A O % '=7 &,
; # $ '=7 & @, , Q # 0 51
$ . , Q> % - 13 ,Q (@]
$$ % $ 9- >$ % % ; $ # $.0;#
$Q5 A o) % '=7=& ") (
: # $ '=7 &, ( 9,F, .Q 9% ! %
-1 , $ 9 +
9, 4 $.Q 0 Q5A O %
o] % $ ; J # $ '=7 &,
$ '=7 &6, ?, G - # o+
! 9 ) >
1F# % 3 2 # % ; , O,
# S#E  +, (@] % J L&
$ ; J $
'=7 &6,
99 $!0 $!
-1 2-.30 )4 - /



